[FH1a 1Lk Cefey pl

O //)L‘d' o/u, ohur < /.\T’ ABWJZ

//7 757 g7 Doa’yTS" = a5l

be = 038’)( P
Bor LB /)!'"U.o‘él?

AY2oby )+ 13X 334y Len”

LSt 3 =

0'7951,2 /el M 20 L0

3 QL)(/{ ” L/oj
i oo w2 6,3 S0~ 5 33*&# 0,85 =

‘ ——

,37;0@

W U‘r)(,\ AL~



(508  liug (slec £.D

E\)W @O\,OQ" ) ’(d{l\v&vv}‘: 68/0‘.‘7 s
Conbedll,  ISK

Qoon )65 = BTS 0

Qe 41052 @0.94  pu- o)

rté‘ Calt

rk dF Ylow 7 h= J,IM' Srck off B4 T h= 4 us!

T 6072 (30 QW 9= L YZ‘M(o.wg

—] = b VT
E 2.4 \} Crx .04 - D,GY 5‘ %
< Abx Y /33?7(7 W{
. € Q,Csc/f'.fe \\ﬂ\{J
e g -

gy ol g = Y e <5

! ‘ | /k’
L, Mt 73350 Cu 4 % f’4’7u 4/7(‘,% 806wt
€9 00



/-A~1
ﬁ/f’—c (‘/"’J ‘

Sl < H3.80- €200
2, I .59

L3S B [ Y
—

X R
/ ' Y
X = /-4\2‘&1 s3 ! ok i b ?.,‘/”/a>
,0i4S

Bl 1S e S L l.% ﬁlﬂwr«a s a{w/#ﬁl »ﬁ/.,,\, (

S”)’ <£r./\a M\«AQ dv ’AL‘.d‘
v Bwnthie i Al L b

<ﬂmﬁ ;h;m ed V,hﬁ/m ;ﬂ@ 57 .1

,/ . L'hjlﬂ"\r ‘4.M c\]\‘ Q t/, Vo
' ibwﬁ/«» IADJL <« 6?'7D

RN ARDE P et
n ¢ 8 ob4 2.5+ 0.8 (L) =
AN S K &‘j{o,wsi@ (.03“33 erol
T ICE SR for
- I’LNL (Lhm)COf'}BQ’@D 9:;‘5’?‘
IR Frgh! bt Hde
Fomelck o




T T Tt
{ R
T
h>$ 5

C’\) — 0’7( ‘/gOW
7 Un (‘1,41) (]}W

- o,’l(‘/,m)(/s,aj
/_w;ﬂ &5 55224 ‘ OIC

S —

Cun L5107




